- 216 - IMERFAEAEFET
i1 —) -
- & ® =B BARH B = & 8 = w = R R
HEH CRE|E B RN BE I ERXK o & #
@®2SK49 BE | Veoo(V) -20| lpss(ma) 0. 50 2.00|  6.00| Vps=5Y, Vos=0 IpssX43 ++ E:
A& PN Fa—7H, EBFESEHE | loma) 10f lsslms)|  1.90]  5.50 Vos=5V, Vos=0, f=1KkHz 0. 5~1. 5mA, F:1 )
5 VA B Bilo Io(mA) 10{ Ciss(pF) 5.00]  6.50| Vps=5V,Vgs=0, f=1MHz ~3m, :2~6nA 'E S
FrE o [Yesl IR E N Crss BZPNE W, Pr(m¥) % 72| Crss(pF) 3.80 4.50! Vps=5Y, Vos=0, f=1MHz 6
T3 (°C) 80| PG(dB) 9.00] 18.00 Vs=5Y, Vos=0, =100MHz
#Ta=60°C NF(dB) 3.50]  6.00| Vos=5V, Vos=0, f=100MHz
@®2SK54 B3z | Vopo(V) -15[ loss(mA)|{ 0.80 5.00| Vps=10V, Vs=0 lossiX43 +++ B:
Fig : VIF HEEREE, Bam. Io(mA) 10} Wisls)|  3.00] 6.00 Vos=10V, Vos=0, f=1kHz | 0.8~2. 4nA, C:2 )
Peh (k) 150] Ciss(pF) 3.00 Vos=10V, Vos=0, f=1Mlz | ~5mA E <
Teh(°C) 150| Crss(pF) 0.40]  0.60| Vos=10V,Vos=0, f=IMHz | #Vpp=10V :
PG (dB) 15.00 Rs=33Q, £=100MHz, ¥
NF(dB) 2.00]  3.50| Rs=33Q, £=100Miz, *
®25K55 B3 | Veoo(V) -18] Ipss(ma) 3.00 14.00| Vps=10V, Vos=0 I pssX43e--D:3
FR : VHF wEEiiEe, BEf. 1 (mA) 10| (Yesl(mS)| 3.00| 8.00 Vps=10Y, Ves=0, f=1kHz ~TmA, E:6~14 )
Peh(n¥) 150| Ciss(pF) 3.00 Vos=10V, Vos=0, f=1MHz | mA E <
Teh(°C) 150| Crss(pF) 0.40 0.60| Vps=10V, Vos=0, f=1MHz *Vpp=10V G
PG(dR) 18.00 Rs=33Q, £=100Miz,
NF(dB) 2.00]  3.50| Rs=33Q, £=100MHz, #
@®2SK1256 v =— 1 YosolV) 35| Ipss(ma)| 40.00 75.001 Vps=10V, Vos=0 lossoy¥R++2:40
R« UF H#HEMESIEE, BE, RRA | ld(m) 10| [Yesl(mS)| 10.00| 14.00 Vps=10V, [p=10mA, 1klHz ~T5mA, 3:40~ >
HE  BARIEHE, BEHEGED | o) 100( Crss (pF) 2.60|  3.00) Vps=10V, Is=0, f=IMEz | 5ZmA, 4:48~63m ‘:E .
FAF 39TV Y UBIEG, Po(n¥) 300] PG1(dB) | 10.00[ 12.50 Voo=10V, [p=10mA, 100MHz | A.5:57~75mA S
i (*C) 120{ PG2(dB) 7.00 Voo=10V, [ p=10mA, 500MHz
NF (dB) 4.00 V=10V, [p=10m4, 500MHz
@®25K152 v =— | Voco(V) 15| Ipss(md)| 9.50 42.00| Vps=5Y, Vos=0 lossH 3 - 1:
FE < VHF e ik e ER, [6(mA) 5[ Yisl(mS)| 21.00| 30.00 Vos=5V, Vos=0, f=1kHz 9.5~14. 8nA, 2: 6
BE B SESEEET K | (o) 50| Ciss(oP) 8.00] 9.00] Voo=bV, Vos=0, f=1Miz | 13.4~21mp, 3: E ‘
5 v Ro BANIER, Pp(mW) 300| Crss(pF) 2.00 Vps=5V, Vos=0, f=1MHz 19. 0~30. 2mA, >
Ti(°C) 100} PG(dB) 15.00 Vos=5V, [p=10mA, 100MHz | 4:27. 4~42. Omh
NF(dB) 1.80 Vps=5V, 1p=10mA, 100MHz




